TRiLHELe

FihtELe

| st

KitE
1T

bulk order

NEW
b

&
ors EEAE
= T ik
A5# A
DSSW SN m
T EEEA b faii
N p—— e
PR BARUTRROUE
FREEHR
L
T
T \
| I#
I
]
5 3 ,777+7 S R 5
I
: T
I
I
L]
e
TSRS 361 s R s
oKsS ORYRY -  O4HE
DSSW 06C - 30
BR FERY WA
Oz FLiE dr Cr( BEE R
ors ORT#7 5 dh s T L FREA ) D, b
1 (kN)
30 13 3 12 6 BRC-606Z2Z 219 17 6
06C 40 22 3.5 4.4 15 10 BRG-6000ZZ 4.55 26 8
50 26 3 16 12 BRG-6201ZZ 6.80 32 10
40 22 3.5 15 10 BRG-60002Z 4.55 26 8
08A 50 26 3 7.5 16 12 BRG-6201Z2Z 6.80 32 10
DSSW 60 29 4 19 15 BRG-62022Z 7.65 35 1
50 22 55 19 10 BRG-6000ZZ 4.55 26 8
10A 60 26 4.5 9 19 12 BRG-6201ZZ 6.80 32 10
70 29 4 19 15 BRG-6202ZZ 7.65 35 Rl
12A 60 26 6.5 1.8 23 12 BRG-6201Z2Z 6.80 32 10
70 29 6 : 23 15 BRG-6202Z2Z 7.65 35 1
=% DSSW
L i

16 EEFRAKESERERE SN

www.ant-fa.com




